] R R PR R R 1) 2 B ATk EH R B e 3

(% AN) (AL . TH, %)

SR 3 A RN 2 AR Y A HEPE =R

X o K| Rk bt PRER iAnd=a (A)-(B) (C)/(B)

(A) (B) (C) X100

L. B #/ B # B B 966, 469 20. 1 996, 718 21.4 A30, 249 A3.0
2. — W A M & - - - - - -
3. ff A OB R O F BB - - - - - -
4, JiE * H 4 1,427 0.0 3, 882 0.1 A2, 155 AG3.2
5. & x H 4 3, 237, 796 67.3 3,108, 304 66. 6 129, 492 4.2
6. i 1% A 0 0.0 0 0.0 0 0.0
7. f A 4 513, 065 10.7 409, 251 8.8 103, 814 25. 4
8. ik fetd & 75, 951 1.6 120, 115 2.6 A44, 164 A36.8
9. & Iz A 15,615 0.3 24, 196 0.5 A3, 581 A35.5
% A B 2 4, 810, 323 100. 0 4, 662, 166 100. 0 147, 857 3.2
(% H) (AL - TH, %)

0 3 AFEE S0 2 4EFE # J E B

X 73 LK | Rk bt LK ] Al bt (A)-(B) (C)/(B)

(A) (B) (C) X 100

1. #& % # 72,974 1.6 75,921 1.7 A2, 947 A3.9
2. P& 55 e ¥ % 3, 169, 303 69. 2 3,023, 383 67.0 145, 920 4.8
3. [E B RE ORI B B W& 1, 288, 630 28. 1 1,328,512 29.5 A 39,882 A3.0
4. & F OF OE WLowm & 0 0.0 0 0.0 0 0.0
5. & 5 * ES # 31, 450 0.7 27,123 0.6 4,327 16.0
6. K& 4 H ST 4 0 0.0 0 0.0 0 0.0
7. 18 15 # - - - - - -
8. B x H & 19, 339 0.4 54, 576 1.2 A35, 237 AG4.6
9. T T # - - - - - -
7 H & 2 4, 581, 696 100. 0 4,509, 515 100. 0 72,181 1.6




